ﬂmo
=
)
HE-

o

olJ

3x+7=-5x-1

[ ]
L]

3x+5x=—1—|:]

I:]x

® 7,8,-8,1 ® 7,8,-8,-1

® 7,2,-8,-4

® -7,8,-8,1

@ -7,8,-8,-1



2l
il

A bx—-4(x-1)=8-x

14

o

A

—

@ x=-1 ® x=1

DO x=-2

® x=3

@ x=2



@ 3 ® 4 @ 5 ® 6

D 2



4. TS WA FA H7 o s

@D 2x+4=0 @ 5-2x=2x-4
® 3x=x-4 @ 2(x-2)=x-6

® 3(x-2)=5x-2



4x-32x-1) =55 EH?

0

uze)
o

s

@ x=-1 Q® x=4

O x=1

® x=3

@ x=-4



ohg AL 3 a7t el o ke sk

O -3x-4=5 @ x+5=-2x-4
® 2(5x+7)=b5x-1 @ 30x+5 =065

@ 4X—|—9:x



APLAA 2 (x+1)=3(x—1)+5 = = uj x o] Zr2?

® -1

2 3 4
b5 @5 @5 @5



8. 7T(x+1)=10x+ 17 Z2 & 2t PP 42?

D 4x+8=16 @ 4-3x=-2x+7
® 6(x—1)=—(5—4x) @ 5(x-8)=6x

® 2x-7(5+x)=0



9. o

oo

F WA Ax - 3) = x+ 3 T S7F 22 FHARY

® 2x-3=9 @ 2(x+1)=3x-4
® 5x-T7=3(x+1) @ Tx+1=2x+3

® x-1=2x+6



10. ohe WA F a7k b 2 Sk Ee AL

® 2x=10-3x @ 9-2x=x
®2(x+2)=1 @ 3(x-1)=4x

® 4(2x-3) = 5x



® 2x-4=—x
® 4(2+3x) = —6x-28

® -4(x-1)=2(x+38)



12.

J24 3 - bx = —3x+4 9 e} T2 & z+= LAA

@ 5x+2=17 @ Tx-11=4x-1

® x+8=-2(x-1) @ 3(4x-7)=1-7(2x+5)

® -5(x+6)=12(x—4)



13. o5 dAAA § I 7 R e ohE Ae =Y

D 3(x-1)=9 @ 2x4+7=15
x+7 1 9
® —— =2 @ S+ -5=1

® 02(5x-7) =26



14.

REER

O -2

5-2{x—-(6-x)}-x=7°Ax 9 g2

@ -1 ® 0 @1



oS & WA x4+ 5(x—2) = —17 - 3x o] 2} L FH S =
PRS2 T?

@ —x+10=3(x+2)-2x @ 3(x+4)=-(x-8)-4
® -(x-3)+9=23x-1) @ 4x-(x-7)=-2(1-x)
® 3x-(x+4)=x-5



16. A -3¥rTh AT 38T &S A
7—4x 9 SfE F5HH?

abd

® -1, 1 @ -1 3 0

@ 2



17, og Foix BAAS 15| ot ax = p o] FE YEFHSLS o,
B ARA AAS)

2x— {34+ (3x-4)} =6(x—7)

O 22 @ 34 ® 41

@ 48

® 50




18. o= T WAA32x-1) =x+12 9
™9

@ 3(x-1)=2x-1
® 12x-6=2x+4

® 2(x+1)=5x-7

®

si7F 22 A

o
[\]
=

~Ax+2=3(x-1)45

4x-2(x-2) =10

K

[l



ohe

441 0.6x - 2 = 0.1x 9] 3E FolH?

® 40






® 2 @ 3

@1



@x:§
5

o O

O x=-2

X =

@ x=1






ul

ol

®1
@ 2

® 3

@ 4

@ 5



25.

%(x—S) =15-

1-—x

|

=)

= AAtst

?



_ 1
26. HAHA2(1-3x)+2=2x A7t x=a¥ ,a+;94 729



27. x o T AAPFAHA -2 (3x - 2a) = x— 10+ 2 (x - 3) 9] a7} AHA
7t e F Sk 7P A2 A 0 O] 9h& oY

@1 @ 2 @ 3 @ 4 ® 5



28.

3:2(x-3)=5:(x+4) & EH?



H

<x+2):(5+x)%

— |

e

29.

13
23

11
25

@

11 13 13
B P x5 @93

D -






® 0



32.

(x—1):3=(3x+2) : 4 A x & gre?

© -2 @ -6 ® 0

@ 2



33. xof WAL (x+2):3=2x+3): 2 NS a2t T, 4a+3
o) he?

® -2 @ -3 ® 2 @ 5 ® 3



34.



35.

x off et Q

Ta—-b =20

D1

(7-x) :
W27



36. %x+2 —6(x-1) o 3= TahH?

24 24
© = @ 3 ® -2 @ -3 © -



37. 5(x—2) =3x+4 9 NS a, 05x+ 1.6 = 0.3x ] = b 2t T
a+b o FH2?

® -5 @ -1 @0 @ 7 ® 14



M~

@ 3

® 0



39. O3 F -0.06x = 0.3(0.7x + 1.8) ©] 3 E a 2 T ], 2a + 1 o] 37}t

A
x x—-3
@5— 5 =1 @ 0.5x-0.8=0.3(x+2)
2 3 1
®X+7—0 @§X+i—ﬁ
@x—77x—2

6 3



40. T2 01x-1.6 =-02(0.1x-1) & H= a2t T o], 2a -1 2] FH-2?

@® 26 @ 27 ® 28 @ 29 ® 30



4

1.

H]—;g Al 28 — x

o =

x, y ol Hiske] xy o] k& F-5HH?

3(x-2)+2= —5 > 02-0.1y = 3(0.3y-21)&

Tt

-

=
=

3

rr



Fohe 2

@ 1 ® 2

® 0



43. WAA S7h A YT o A 12w

1 —9
® §x+1:x2 @ 3(x+1)-2=4x—1

2
® %H:x‘; @ -0.03x = 0.2(1.2x - 2.7)

® 2x+4=6+x



— <t

— |

® 0

— | N






46.

ok 40 S Tt

0.2x4+04=-0.17x-0.34

D x=-3 @ x=-2
@ x=0 ® x=1




47. FAA -0.06x = 0.3(0.7x +1.8) A AE a2 T W, 2a +1 2] F=
TohH?

@ 2 @ 3 @0 @ -2 ® -3



48. HAA 024x+52=002x+08 S x=a 2 & 1 2 -a 9

@® 330 @ 350 ® 380 @ 400 ® 420



HE a2t <, 3¢ -9

3
+0.2x 9

5

of #2?

D 6



0.12x 4+ 0.26 = 0.1x + 0.04
22x-11=x+22

@ 0 @ 11 @ 22 ® 26

O -11



@ 3(x-1)+7=0

D x+3=2

@ 0.2x-3=0.5x

2-4{1-(2x-7)}

® 2



@ x=4 @ x=-4

O x=-2

® x=-6

@ x=2



g=) olrt. o] W, 10p — ¢ ©I

® 3

@ 2

@1

@ 0






55. the A& WEsH: 1A% x, y 7k Uk o] W, x4y o gHe?

0.8(4—-2x) =—(1.6 + 0.8x)
0.09y — 0.2 = 0.05 (y — 3) — 0.3

® —% @ -2 ® -3 e

| =



56.

ohe WA o shE Fohw?

3x—4 14
x +1=0250-

@ x=-20 @ x=-12

@ x=10 ® x=14

Q x=-4




a?

57. 3{-x+2(x+1)-4} =18-5x 9 7t x=a & trﬂ,a—§ o] g
s

O -2 @ -1 ® 0 @1 ® 2



